Vb, 5T s

bl (b Slasl asgamo o (gas b 45w Jls acgoe S )
bl (0,1) o3 o oo bl acgomo 45 3,10 3929 glacgozo LT —¥
bl b o8 slasl sacgomo o o LU 4 8,105 3929 (lac gozxo 45 s d ;L - Y
fedS (lgi 4z B — A 9 A — B sbracgommo 5l SO j2 350 )0 Wbl dwy s goxe S B g 5L acgozme G A 51 -F
e 03,05 A = {% ) TE N} asgomo aupd LS J - aals 48 5 osliiwl g9 -0
03, A={(1,y) 1 XP+ P <1} aegozo anmo (Lid I - Ainle andd 5l ooliusl (g —F
WS Sl bl XSG e gLl slasgomo p) B ais (0,8 -V
EnX-E)=E-E

IS ol ably (ol oluel 3l glacgoe 5 B ulS (5,8 -A

E= 1 1
—ﬂ(U(x—;, x+2)
n=1 x€E
! s Glasgozo ( Ejpo) OF oos <ol -4
<J¢J°;5Q)A¢JM|,E={%: N € N} acgomo s> bl -\

19l g0 bty ) ygo & A IC galold € € X g Xl slacgormo p) A Sy yio Lad S (X, d) 0ss (2,81
p(c,A) =inf{d(x,c) : x € A}

p(c,A) = Slhisg S1c €A uss el

- ool o0 A S k0 (sLaS S yio L1y X (gas gosmo iy p2i-1Y

1S coli

Ll 30 (X, d) awnd glas 45 acgozxo po (A

el s (X, d) downn sLas 40 acgoxo 2 (O

Al 2l 51 i g 45T ol 00 id (X, d) aiowenS sLad )0 K sacgoxo (g




